Answer Sheaet No.

Sig. of Invigilator.

................................................................................................................................................................................

MATHEMATICS SSC-I
SECTION — A (Mgrks 15)

Time allowed: 20 Minutes (Science Group)

NOTE: Section-A is compulsory. All parts of this section sse to be answered on the question paper itself.
It should be completed in the first 20 minutes amd handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do hot use lead pencli.

Q.1 Circle the correct optioni.e. A/ B/ C /D. Each part carries one mark.

(0 If Ais a square matrix and 4 = Athen Ais called:
A Transpose B. Skew Symmetric
C. Symmetric D. Scalar
y 2.
(if) Product of [x y]{ l} is:
A [2x+y] B. [x-2y] C. [2x -y} D. [x+2)]
(iii) if z<Othen x<y=
A Xz < yz B. xz>yz C. Xz =yz D. xz < yz
(iv) log, x will be equal to:
1
A og, x B. log, z C. log, x D. log, y
log, z log, z log, v log, x
(v (a+vb)Na-+b)is equaito:
A a’ +b? B. a —-b C. a-b D. a-+b
(vi) If x—2is factor of P(x)=x"+2Kx+8then K =
A 2 B. -2 C. 3 D. -3
3 3 2 2
. . a-b a+ab+b
vii Simpli + =
(vii) pfy:f—b“ a +b°
1 1 a—-b a-+hb
A B. C. D. S
a+b a-b a+b a +b
(viiiy  if xis no larger than 10 then which of the following expressions is FALSE?
A x=8 B. x<10 C. x<10 D. x> 10
(ix) Distance between the points (1,0)and (0,1)is:
A. 0 B. 1 c. V2 D. 2
(x) if a line segment intersects the two sides of a triangle in the same ratio, then it is to the third side.
A Perpendicular B. Parallel C. Congruent D. An intersecting line
(xi) congruent triangles can be made by jeining mid points of the sides of a triangle.
A Three B. Four C. Five D. Two
(xii) Triangles on equal bases and equal altitudes are equal in:
A Perimeter B. Area C. Volume D. None of these

(xii)  Which of the following sets of lengths can be the lengths of the sides of a triangle?
A 2em,3em,5em B 3cm,4em,5cm C. Zem,dem,7cm D 3em, dem, Tem

(xiv) A triangle having all sides different is called:
A Isosceles B. Scalene C. Equilateral D. None of these

{xv) Point (2,-3) lies in quadrant:
A ! B. yij C. m D. 14

For Examiner's use only:

Total Marks: 15
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MATHEMATICS SSC-I
(Science Greawp)

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Attempt any twelve parts from Section ‘B’ and any thras questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B If required. Write your answers
neatly and legibly.

SECTION - B (Markg 28}

Q.2 Attempt any TWELVE parts. All parts carry equal marks. (12x3=136)
, [a+3 4 -3 41 _
(i If | = , Find aand b
| 6 b-1] |6 2
(i) Solve the following system of linear equations by using Cramer's rule:
Ix=-2y=1 . -2x+3y=12
_ -1 3] 1 2
(iii) For the Matrices 4 = , B= find (4B)
2 0 -3 -5
a u+h b b+c RN
(iv) Showthat(lh] x(x,} x x] =1
X x" X
o 260 4+ , , .
(v) Simplify _l - +I_ and write your answer in the form a+ bi
341 341
(vi) Find the value of x from log,, 8 :g

(8.97)° % (3.95)
315.37

(i) If x+y+z=12and x* + )’ + 2z =64 find the value of xy + vz + zx

(viD) Use the log table to find the value of

2
(ix)  If x=2+/3find the value of [x +1J
X

(x) Factorize 1+ 2ab—-a* — b’
(xi) For what value of m is the polynomial P(x) =4x’ —7x* + 6x — 3m exactly divisible by x +27?

(xii) Find the value of K for which the given expression will become a perfect square
4yt —12x" +37x ~42x+ K

3 2
o . N -8 x"+6x-+8
(xiii) Perform the indicated operation and simplify tc the lowest form xz X Y, al
x*—=4 x -2x+1
(xiv) Solve for x when xX+5 =6
—X

(xv) Solve lx—-ng+l,where xekR
23 3

(xvi)  Find the distance between the given points 4(-8,1), B(6,1)
(xvii)  Use factorization to find the square root of 4(a +b)* =12(a” —H*)+9(a — b)’*

(xviil) Factorize x° +48x —12x* —64

SECTION — C (Marks 24)
Note: Attempt any THREE questions. All questions carry equal marks. (3x8= 24)

Q.3 Prove that in a correspondence of two triangles if three sides of one triangle are congruent to the corresponding
three sides of the other, then the two triangles are congruemt. (S.5.5 = S.5.5)
Q.4 Prove that any point on the right bisector of a line segment is equidistance from its end point.

Q.5 Prove that if the square of one side of a triangle is equal to the sum of squares of the other two sides, then the
triangle is a right angled triangle.

Q.6 Prove that if three or more parallel lines make congruent segments on a transversal, they also intercept congruent
segments on any other line that cuts them.

Q.7 Construct the axyz . Draw its medians and show that they are concurrent.

mxy=45cm, myz =3.4em , mzx =5.6cm
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